SOLUTIONS

EE101A — Engineering Electromagnetics Final

UCLA Department of Electrical Engineering
EE101A - Engineering Electromagnetics
Winter 2015
Final Exam, March 17 2015, (3 hours)

Name Student number

This is a closed book exam — you are allowed 2 page of notes (each page front-+back).

Check to make sure your test booklet has all of its pages — both when you receive it and when you
turn it in.

Remember — there are several questions, with varying levels of difficulty, be careful not to spend too
much time on any one question to the exclusion of all others.

Exam grading: When grading, we focusing on evaluating your level of understanding, based on what
you have written out for each problem. For that reason, you should make your work clear, and
provide any necessary explanation. In many cases, a correct numerical answer with no explanation
will not receive full credit, and a clearly explained solution with an incorrect numerical answer will
receive close to full credit.

If an answer to a question depends on a result from a previous section that you are unsure of, be sure
to write out as much of the solution as you can using symbols before plugging in any numbers, that
way at you will still receive the majority of credit for the problem, even if your previous answer was
numerically incorrect.

Please be neat — we cannot grade what we cannot decipher.

Topic Max Points Your points
Problem 1 | Smith Chart 15
Problem 2 | Impedance Matching 40
Problem 3 | Impedance of Transmission Line 15
Problem 4 | Phasors and Maxwell’s Eq 30
Total 100
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1. Smith chart basics (15 points)
Consider the generic transmission line problem as shown below. Assume that the transmission line is a
coaxial transmission line filled with a material that has £=4 &, u=uy.

%

(~> v, A Z=1000Q v| z

£
(a) (5 points) For each of the following loads, mark their position on the Smith chart below (using
the letter as a label), and write below the reflection coefficient (magnitude and phase angle).

Ali
Vo

A: Z=60 Q. r- =024 o~ 02y /I%°
550.6

B: Z; = 150 + 300 Q. = (54 2p°

2,21.5053%

(b) (5 points) For each of the following loads impedances, convert to unnormalized load admittance
Y. and give the value in units Q. Mark the position on the Smith chart below (using the letter as

a label). >/b._ /[ 65
A:Z=60 Q. A Y= e/65 _/Q_:' '

0.3 -) 026

O. @12 0,002 1

B: Z; = 150 + 300 Q. B Y=
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(¢) (5 points) What is the non-normalized input impedance of the transmission line Zin(-/) for each of
the loads if /=2 cm and /=1 GHz? Label each point on the Smith Chart using A, B’

A: Z;= 60 Q. A Z,= 97 +:) Sof)_
092405

B:ZL=150+j3OOQ.B”' Lin= 40“)/50_52_
6M 14

erZafn @ [

iy D T 3
Vorlga T 5 Tlerw)s

&
A1 S5 015
/S am

0-Z - 0123

025 (223- ©28%
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Smith chart for problem 1
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2. Transmission line — Impedance Matching (40 points)
For this problem, you may use any methods you wish, including the Smith chart. Also, throughout this

problem assume that the transmission line is coaxial filled with a dielectric material &9, u=yo, and the
generator voltage is v(£)=V cos (2aff), where /=5 GHz and V=1 V throughout the problem.

(a) (20 points) The goal of this problem is to design an impedance matching network that prevents
any reflections into the network and maximizes the power delivered to the load, using a shorted

stub. All transmission lines have the same characteristic impedance Zy. Find the lengths d and #

in order to impedance match the load the line. Give your answer in terms of wavelengths. (Note,
there are multiple solutions — you only need give one).

i) R=50Q < g >
v,(t) Vi Z=500 754100 Q
=< 5 :
100 cm e
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(b) (10 points) For the same problem, what should the length d and # be in meters?

Ve 107
D

S o lfon. 4

S

0\—_—' 0\004’66 m

1= o ool b

s lotion 2
o\: O\oo()4r\m

0= 0.0of32m
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(¢) (10 points) Now consider using a lumped circuit element to match instead of a shorted stub
(shown as reactance Xy, in the figure). Should you use an inductor or a capacitor? What value
should you use (in either units Farads or Henries)?

) R=500 < d >
v,(®) Vn Z=500 Xa 754100 Q
| )|

A"

l?t Yoo dwm d- @'233), Voo vt olwoge_
yw\ 3 "J 0.034 1" Xm=+]29Y

Chevg idet o
Xin= W] L= 227 =926 H

2T x G0

1f Yoo cheme d= OBDN  vosaet chovee

Y= +)0.0348" Xn-=3294
chom Gk

= - .29
>(m T J <14

| )
C* gy =1 08x/0" F
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3. (15 points) Impedance of transmission line. Consider a two wire transmission line, and a
single wire transmission line over a ground plane with dimensions as shown (assume that d and @
have the same values in each case). If the characteristic impedance of the two-wire line is Z¢=40 Q,
what is Z, for the wire over the ground plane? Explain the reasoning behind your answer in 1-3
sentences.

Two-wire Tran Line Single wire over ground plane Tran Line
=
® 3) ®) 5-{
v

g7

-T-}\L 5,}&51(; w:\-b bt e +f\e, fM@JL ‘H\@V QZVIVGI%“}

J'l-_v e o wire Ine.  Houmr Ye voltuge Amp»ﬁs

Z ot bovie G Bt s chug o God 226,
Th B-ﬁm@ vt/ux 3 sz_ ()\7[ 4& o Wir iSe  ¢p L,,M_'B [-Mw

W P

el e o ;

nsle { ( Nl | Tes Rt ZO
C wavz l ~J2.l
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4. Phasors and Maxwell’s Equations (30 points)
(a) (8 points) Write the following phasor quantities in the time domain assuming an angular
frequency w. (Do not include the expression “Re{}” in your answer). Assume Ey, Hy, V), and 4
are real numbers.

i E(z)= 1'iE(,e"f"z Ez)= )b( E Col (W+’ hg)
%:\E,&""&”ef ‘*} - R E (et [4-1a) & 5n lt42)
ii. H(z)=gHe"™ HG H= 9/{0 6()’\ [l«nL - D‘E)

iii. F=34(1-j) o= ?;I\ ( (0% w‘\t + Sin w+)
S2h oo (A -Th)

iv. V(z)=V,sin(Bz) Nz, D= vo 4in (B‘Z) ¢os @a

(b) (4 points) Consider a plane wave propagating through a particular medium with the phasor
relations for the field:

E(z)=iEe*
~ E
H(z)=-y—Le*
(2)=-Y 75
Assuming that u=p, what is the value of o and €? What direction is this wave propagating?

Popugebs, -2 divehin,

6—=O
7- -I.Mo 2 Aa. Y=o -y
= /00 - 6’ > = 97

£ = | 26%06"° Fim
=l
e e

| =

Page 13 of 25



EE101A - Engineering Electromagnetics Final
(c) (4 points)

E(z)=3E.e™

f(z)=§(1-j) e
Assuming that y=puy, is this wave propagating through good conductor or a poor conductor (i.e

lossy dielectric)? Explain how you can tell the difference.

[ ie prpagety dosh O Gead condubr Wil o 27E-

\/ '}e“ Lecavin )
Ov ‘7% % x Qﬁ)){ EM'WB

2 (M4 ¢ res
gl;!!ﬂ z % J 4 l
When = ¢ =S =D,

"¢ x}w e o ()
2 G _;‘G_,E\S:__TZJ__%&;

e
5 7(:5";\"% mostly real |

op
o
defined by differential elements dS, and rewrite this equation in integral form. Give a physical
explanation of what conservation law that this describes.

o dre (-l

2 oF

(d) (4 points) Consider the equation: VeJ =— Apply this equation to a volume ¥ with a surface

ﬂ 23 &\QS (j‘-h <€ @ngs Erv "I.On (}ﬁ

Chage  IF # choge denid,
ot 0 locotn Cﬁalya s b
O-cconfaned by, ~ "yt S

Ploc inwed. o Ot
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() (5 points) In circuit theory, Kirchoff’s voltage law says that the sum of voltages in a closed
circuit must add up to zero, Qualitatively explain and/or derive how this rule can be derived from

one of Maxwell’s equations.

V,#V, +V, HVy,=0
a % The 90‘927/19:!65 \p’ﬂﬂ Foaday 5
Low  Hken in e elecnchic

0 D
liteyal dem & ‘§E>-AQ=O_

T IF s s Bk conl e lop
o The Cirgd | the 4um of He Wity
deops Myst egul Za,
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(f) (5 points)
Here is a “proof” that there is no such thing as magnetism. Magnetic Gauss’s law states that: VeB =0 [

When we apply the divergence theorem, we find:
[ (vB)ay = B-ds=0
v s ]

Because B has zero divergence, we are able to define B as the curl of the vector potential: B=V x A If
we combine the last two equations, we obtain: :

[ (VxA)eds =0

Next we apply Stokes’s theorem to the above result to obtain:.
[(VxA)dS=¢ A-d1=0
S G

Thus we have shown that the circulation of A is path independent. It follows that we can write A =V

where i is some scalar function. Since the curl of a gradient is zero, we arrive at the remarkable
conclusion that:

B=Vx(Vy)=0
That is, the magnetic field is zero everywhere!

Obviously I made a mistake somewhere in this proof. Explain where I went wrong.

(Hint: pay careful attention to the definitions of the various laws and theorems — it may be helpful to
make sketches).

T he Pmbkm Nert orgfnmlcs 7%» A m:}sﬁr‘mm*&#
the dikoene feorem, yhich Shodd re)
S\' [V5BBD\V:§5 R-4s =0
H msl b app’a\'o\ ovr & Closed o fee.
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Ss (Vrh)ds- § Adl #D .
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